
 

ṇ  

 

  

  

 



 

u ḭ 

︣ טּ Ḯ 

 

u צּ
︡ ךּ Ḯ 

 

u

קּ Ḯ 

2 



 

u ḭ

ṇ ṇ Ḯלּ טּ

לּ  Ḯלּ

 

u פּ ḭ ︡

ṇ ךּ ḭ ṇ  Ḯלּ

 

3 



4 

לּ צּ ךּ ḭ פּ  

פּ ḭ Ḯ 

v= ςὫὬ 
( אל hḭ g ︣ ) 

טּצּ ︣ כֿ צּ קּ Ḯ 

ḭ ︣ Ḯ 
 

ḭ ṕRṖ ṕἁṖ ︣ ḭ 
ρ

Ὑ
ὺ  

ử ︣ ḭ 
ρ

Ὑ
Ὤ אל Ḯ 

 



5 5 

R 

q  

h 

A 

ḲAṕ Ṗ/ Ḳhṕ Ṗ/ :R   

Ḳh/Rṕ /sṖ/ Ḳqṕ /sṖ 

 
Ḳh(t)  /  :q(t)  

1  

×  ( )Ṭ( )-( ) 

  ể וֹףּ h q   
 

h
AR

q
Adt

dh
)

1
()

1
( -=

כֿ ể  לּךּ



6 
1 ṇ ︣  

ṇ  

:A=50ṕ Ṗ  / :R=1 

:K=2        / :s=30(cm ) 

: Ti=50 / :Td=15 

:Ỷ=Ke+Ỷs=2*(30-20)+20 

         =40ṕ /sṖ 

(qs,h(0))=(20,20)  



ṕ Ṗ s ︣  

h s e ︣   

q e אל ︣  

Ỷ=Ke+Ỷs                                 :e=s-h ṕKḲ Ṗ 

 

7 

dq

dt
= - K

dh

dt 

)()
1

()
1

()1( ─꜠ⱬꜟ⁷⁷ hh
AR

q
Adt

dh
-=

)())
1

()
1

(()2( ─⁷⁷h
AR

q
A

K
dt

dh
K

dt

dq
--=-=



8 

טּ 30(cm) ךּ ךּ ḭצּ צּ ︡ Ḯ 

ṕ ︡ קּ ḭ 0צּ ךּ ךּ ︡ לּ Ṗ 

צּ ︡  

1   

 

︣שּ טּצּ  



9 

qsdths
T

K
hsKq

t

o
I

+-+-= ñ )()(

Å e ︡ḭֿכ 0צּ נּ  
 

dq

dt
= - K

dh

dt
+

K

TI

(s - h)dt

TI:  

 

 

ς
Ὠή

Ὠὸ
+
ρ

ὃ
ή

ρ

ὃὙ
Ὤ

ὑ

Ὕ
ί Ὤ 

h
AR

q
Adt

dh
)

1
()

1
()1( -=



10 

1 ḱ   

 צּ
שּ ḭ
︡ Ḯ 

ḭ ︡שּ  ךּ

 

 



11 

לּ  
︡ ṇ

Ḯ 

 
1: 0.5 

2: 5 

3: 50 

4: 150 

5: 250 

 
רּ︣קּ ḭ 

רּ︣אל ︡ ךּ  Ḯךּ

PI  

︡ ךּ
 ךּ

ṇ ṇ ṇ ḭ
צּ קּ ךּ  



12 

q = K(s - h)+
K

TI

(s - h)
o

t

ò dt + KTD

d(s - h)

dt
+ qs

dq

dt
= - K

dh

dt
+

K

TI

(s - h) - KTD

d2h

dt2

TD:  

 

Å ︡  לּ
 

(1)
dh

dt
= (

1

A
)q - (

1

AR
)h

ý
ü
û

í
ì
ë

----+
ý
ü
û

í
ì
ë

--= h
AR

q
AAR

KThs
T

K
h

AR
q

A
K

dt

dq
d

i

)
1

()
1

()
1

()()
1

()
1

()2(



13 

1 ḱ ḱ   

PID צּ
צּ  ךּ

ḱ ḱ

ḭ 

 

שּ נּ Ḯ 



14 

ṇ ḭ טּצּ Ḯ 

ṇ פּ
ểỂỂ ḭ
︣ פּ

︡ Ḯ 

 
:R ểּפ 0.5

︡ Ḯ 
ểỂỂ  

אל ךּ  



15 

ḭPI

צּ פּ

 ḭצּ

PID  צּ

שּ ךּ

Ḯ 

PI צּ
 ךּ

PID צּ  שּ

︡  



16 

2  

× ( )Ṭ( )-( ) 

ḲA1,A2ṕ Ṗ/  Ḳh1,hṕ Ṗ 

:R1,R2   /  Ḳh/Rṕ /sṖ 

Ḳqṕ /sṖ 

Ḳh(t)  /  :q(t)  

ὨὬ

Ὠὸ

ρ

ὃ
ή

ρ

ὃὙ
Ὤ 

ὨὬ

Ὠὸ

ρ

ὃὙ
Ὤ

ρ

ὃὙ
Ὤ 

Ὤ ︣ h ︣ 2 Ḯ 

כֿ 2  לּךּ


